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Faculty of Industrial Education Firstyear.
Second Term ' English language Exam .2009

Read The fnl!uwing and answer the questions :

Light docs not trave! with infinite velocity . Its speed is indeed so enormous that s
compared with every form of motion with which we are familiar , the velocity of
light appears infinitely great . In a single second light crosses a spoee equal to
eight fimes the circumference of the earth ; and therefore in traveling from any
visible ubject on the earth to the eye of an observer on the earth s light oceupies a
space of time indefinitely short . Yef even as regards such ohjects as these y light
has occupied 3 real interval of time » however small , in reaching the eye ; and so
we see ohjects not as they are at the mument we perecive them but as they were
the smallest fraction of 2 second before,

Questions : 1. Is the veloeity of light great or small ?
- Why de we never sce amything as it is at the moment when we see jt ?
3. How many times could light encircle the carth in a second ?

Fill each space with one of the words in its right form ;
Infinite ; velocity ; eircumference i interval ; satellite i planet ; instant ; vision 3
Unconscious ; decade .

1.The —-- of a circle is more than three times its diameter ,

2, The e of light has heen #ccurately measured many rimes .

3. Ten --umake a century

. His feeble --—does not allow him to see very well .

» We cannot see the whole universe as it all is a¢ the same —--we..
. The series is cueee- ; it never ends .

» The anaesthetic soon made the 114121} ——

« An —emeeeee of time passes between the action and the arrival of the light which
shows the action

9. Plute is the outermost ——-=——-0f the solar svstem .

10. The carth has only one natural -w—and we call it the moon .
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Bent Suef University Basic Science Department

Industrial Education College Subject: Physics 1
Time: Three hours First Year Students

Ans;{ér the following questions:

Question: 1 (12 Mark)

"(a) Define: Streamiine — Law of Efflux.
{b) A mass of 2 kg connected to a light spring of force constant 10 N/m oscillates on a
horizonta). Calculate:
(1) Total energy of the system and the maximum speed of mass if the
zu'np!itude of motion is 2 cm,
(2) Fur what displacement does the speed of mass is 2 m/s.

(e} Drive an expression for the terminal velocity of body moving in a viscous medim.
o ———— —
Question: 2 (12 Mark)

(a) Using Dimensions; deduee a rclation for the final velocity (v) of a body in time (1),
f its initial velocity be (v,) and acceleration (a).

(b) A copper wire with cross- sectional area of 0.04 cm? |s hung from a support and a
mass of"3 kg is hung from its end and the extension in wire is }.2 mm. Calenlate the
original length of the wirc. The voung modulus for copper is 120 Gpa.

(¢) Prove that, the osciilation of a simple pendulum is simple harmonic motion. If a

pendutum has a length L and a period T, what will be the pertod when 1. is doubted”

Question: 3 (12 Mark)

(a) Defime: Coctlicient nf surface tension - Coefficient of viscosity of liquid - hea:

Capacitv,
(b) What are the factors affecting the height of liquid in the capiliary tube? Explain.
(¢} Prove that, the total energy per unit mass of a liquid flowing from one point to

another, without any friction, remains constant throughout the displacement.
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Answer all the following questions:

1. 1) Find the center, the vertex, the foci, the cutting axis, the domain, the rang, the equation
of the tow asymptotic lines and the conjugate of the hyperbola3x® - 4y =108 = 0.

11} )Find the cenuer, the veriex ,the foci, the length of major axis, the length of minor axis,
and the length of latus rectum of the ellipse 4x* + 257 =Bx +100y+4 = 0

N

Iz =4(cos(§£)+jsin(§£n and z, =1++3] find z z, ,Z‘/
4 4 ” . : /&

1
Ity Use De Moiver's theorem to evaluate (—-—1-;— 3 j)/s

3. .Eveluate the following integrais:

xdx
I — I §5ec xdx
I»’x’ +16 f
b Inxd
lir. J-(lan X + cos x)dv v j 2
- X

4
V. Find the area of the region between the two curves represented by:

y=6-x and v+2x=3

4. 1) Use the inverse of marix to solve the following system of equations:
x -2y + 3z =235
2x+ S5y +3z =13
x +8z =17
It) For the matrices:
Coo ] - 3 -2
aefs 2ol meft e 5
-2 -1 -3]
Find the symmetric matrix X and skew symmetric matrix ¥ such that A = X +Y and Prove

that(BCY' =C 'B™.
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